Dividing decimals by 10, 100 and 1,000

o Complete the divisions.
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Whiaat do you notice when you divide o number by 107

o Complete the caloulations.

b} 78+10=| .97
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o Complete the divisions.
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What do you notice when you divide o number by 1007

o Complete the divisions.
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o Use o place value chart to work out 136 5 1,000 g} o Complete the caloulations.
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Complete the calculation. 147 =100 =| |4
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Tolk to o portner obout your method. @| b) 21 =10 = d) 5006 =10 =

o Use your knowledge of measure to work out the answers.

a) What is the mass of the box in kilograms? 21 £1,000 = iy E006 £ 1,000 =
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d o Complete the divisions.
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b) What is the height of the sunflower in metres?

135 |*| 160 |=| 2 .3.::.| 235 cm

¢} Whaot is the amount of juice in litres?
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